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L (B/5)

B g & 6-10 7.6-8.9 8.3 e
HHEE (mg/) 100 <30-57 41 s
B Y48 &  (mg/) 10 <2 <2 v
WMEYEE (mg/) 2,000 162 - 690 375 =
WAL 48 & (mg/) 10 <05 <05 s
FLVEE (mg/)) 0.1  [<0.040-0.049 0.042 =
BOYERRHEE (mg) 100 <15-29 19.1 =
HAE (mg/) 20 <10 <10 =
MéedE (mg/)) 0.5 <0.3 <0.3 =
WEr A E (me/) 1 <0.6 <0.6 =
FHEEMER (mg/l) 15 <7 <7 yass
EE2EFAE (mg)) 2,000 | <100-273 182 v
HikE (mg/) 200 <20-40 29 s
(0 43 30 - 32 31 v
T V8 (mg/l) # ; - - ]
EEeB

fif - (mg/D) 2 <04 <04 s
5 (mg/) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
¥ (mgfD) 1 <0.30-0.34 0.30 =
i (mg/l) 2 <05 <05 s
o (mg/l) 2 <1 <1 =
il (mg/l) 5 <0.2 <0.2 s
7K (mg/l) 0.05 <0.05 <0.05 s
#2 (mg/D) 2 <1 <1 =
#R (mg/l) 2 <04 <04 v
#  (mg/l) 5 <1 <1 =
P (mg/) 2 <1 <1 =
HEEBHEEH# (mg/) 10 <7 <7 s
Bl (mg/) 5 <1 <1 =
# (me/D) 10 <2 <2 =
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Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR (mel) 0.01 <0.01 <0.01 e
FEEELEEY
REE (mg/) 0.1 <0.06 <0.06 &
EHEMLEY
1,1,1- = 8 2 5% (mg/) 0.05 <0.025 <0.025 e
ZEBE
% A K 48 & (mg/) 0.003 <0.003 <0.003 e
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() =+45rFEE @
ks (kg/0.5h) 0.58 0.00 - 0.05 0.01 2
— & bW (kg/0.5h) 3.86 0.00 - 1.33 0.13 =
B % (kg/0.5h) 1.16 0.00 - 0.26 0.06 v
FALE (kg/0.5h) 0.08 0.00 - 0.00 0.00 yss
ALY
(L Z & 16 & &5 B§) 7.71 0.38 - 3.45 1.78 =
(kg/0.5h)
46 5 MR (ke/0.5h) 0.39 0.00 - 0.06 0.00 o
— & L% (kg/0.5h) 1.93 0.00 - 1.06 0.12 =
(2) H¥9E ©
UL (kg/day) 9.25 0.00-0.10 0.02 yiss
“ &b (kg/day) 46.27 1.14 - 14.00 6.17 yss
Eii%E  (ke/day) 9.25 0.82 - 3.59 2.66 yss
#wAbE (kg/day) 0.93 0.00 - 0.01 0.00 yiss
ALY
(L Z & 1k & &5 8§) 185.06 61.61 - 96.84 83.58 =
(kg/day)
BA b (ke/day) 9.25 0.00 - 0.10 0.02 yiss
— &AL (kg/day) 46.27 2.64-9.09 5.46 piss
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et Gamy | 09 0O =
wmREALEY
(LA bsS & &85 H) 0.73 <0.002 s
(kg/h)
% 1 (DA B2 51 &) (kg/h) 1.45 <0.032 =
B (CIBEETR) (ke/h) 0.21 < 0.006 =
R RORABE (kg/h) 0.19 <0.002 yiss
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(ke/h) 0.0019 <0.0003 b
EEEBEE)O:
fil (kg/h) 0.0023 <0.0001 &
FaeBG B HAE .
(ke/h) 0.019 <0.0019 yoea
7K (kg/h) 0.0019 < 0.0001 =
TEEFE (ng/h) 2,891 19 yiss
Ea
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FEVOHBG  EEREESEEEE gl T PR B -
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B g 15 (7K) (%@8@@) 11.6-12.7 12.5 s
BB S ) | o | 4398 72 B
ek
#% (ppm) 0.5 <05 <05 =
7K (ppm) 0.1 <0.02 <0.02 v
P8 & (ppm) 10 <05 <05 s
i (ppm) <05-5.0 0.85
# (ppm) <05 <05
i1 (ppm) <1.0-6.4 1.1
# (ppm) <05 <05
f ;ﬁ%épﬁﬁ)‘ FEH) 25 <25-93 3.0 2
#  (ppm) 20 <1 <1 yss
W% (ppm) 10 <5 <5 =
Z A E (ppm) 10 <20-21 2.0 e
#16Y) (ppm) 5 <5 <5 =
B ZE 5
g %fmjf W 5,000 <15 <15 v
AN EEE -
(ppm) 10 <5 <5 E
i&p;b)zﬂﬁﬁ B ) < <5 =
% & WA (ppm) 1 <1 <1 s
TCDD (ITEF %) . <1 <1 =
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